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MA115 :: Section 2.2

Warm-up Problem Find the equation of the line
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Functions

1. To graph piecewise functions, simply think of the function as two dif-
ferent functions and graph each one over I'TS GIVEN DOMAIN.

2. Sketch the graph of the function
-Qm—I—S if v < —1
f(x)—{ =7 if x > —1

3. Sketch the graph of the function

4 ifex<—-2 7

flz) = 2 if —2<2<2
9*_"1 —r+6 ifz>2
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4. The graph of a piecewise defined function is shown below. Find a
formula f(}r the function.
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5. Plot the family of functions on the same axes.
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(¢) f(@) =22 +cforc=0,2,4,6 (d) f(z)=2?+cforc=0,-2,—4,—6
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(e) f(x)=(x—c)? for c=0,1,2,3,4 (f) f(z) = (z—¢)3 for c=0,-2,—4
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